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Cluster: 0027 ptr; resid: 0.44; r/c: 26/54

x.range

upstream meme PSSM #1; e=2.3e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1e+05

1 3 5 7 9 11 13 151 3 5 7 9 11 13 15
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14785

15089

10805

14356

16850 1758

22913

34950

37562

39236

40689

44318

45342

45560

47700

47843

48114

48227

48340

48685

49168

49314

49388

49711

51830

54899

string −500 −400 −300 −200 −100 −1
34950NA
15089−0.02
45342−0.02
48227−0.14
49388−0.27
14356−0.41
51830−0.41

1758−0.55
10805−0.56
22913−1.58
40689−1.67
14785−2.15
49711−2.21
48114−2.34
49314−2.49
48340−2.51
47700−2.99
54899−3.03
44318−3.33
37562−3.38
49168−3.93
47843−4.09
39236−4.31
16850−4.56
45560−4.82
48685−6.16

log10(P) upstream meme1 2 log10(P.clust)=−2.32; 26 seqs; 26 uniq
c(0.5, 2.5)
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